

## EVALUATION $E(\exp(\int_0^t h(s)\tilde{d}x(s)))$ ON ANALOGUE OF WIENER MEASURE SPACE

YEON HEE PARK

**Abstract.** In this paper we evaluate the analogue of Wiener integral  $\int_{C[0,t]} x(t_1)\cdots x(t_n)d\omega_\rho(x)$  where  $0 = t_0 < t_1 < \cdots < t_n \leq t$  and the Paley-Wiener-Zygmund integral  $\int_{C[0,t]} \exp(\int_0^t h(s)\tilde{d}x(s))d\omega_\rho(x)$  where  $h(s) = t - s$  and  $(C[0, t], \omega_\rho)$  is the analogue of Wiener measure space.

### 1. Introduction and Preliminaries

In 2002, Kun Sik Ryu and Man Kyu Im [5] presented the definition and the theories of analogue of Wiener measure  $\omega_\rho$ , which is a kind of generalization of concrete Wiener measure. In 2009, Kun Sik Ryu [9] introduced the generalized Fernique's Theorem for analogue of Wiener measure space. In this paper, in the first place, we evaluate the integral

$$\int_{C[0,t]} x(t_1)x(t_2)\cdots x(t_n)d\omega_\rho(x)$$

where  $0 = t_0 < t_1 < \cdots < t_n \leq t$ . Also using our results, we evaluate the integral  $\int_{C[0,t]} \exp(\int_0^t h(s)\tilde{d}x(s))d\omega_\rho(x)$  where  $h(s) = t - s$  and  $(C[0, t], \omega_\rho)$  is the analogue of Wiener measure space.

In this section we present some notations, definitions and Theorem from [5][8].

(A) Let  $\mathbb{R}$  be the real number system. Let  $\mathcal{B}(\mathbb{R})$  be the set of all Borel measurable subsets of  $\mathbb{R}$  and let  $\mathcal{B}(\mathbb{R}^n)$  be the set of all Borel measurable subsets of  $\mathbb{R}^n$ . Let  $m_L$  be the Lebesgue measure on  $\mathbb{R}$ .

---

Received July 26, 2010. Accepted August 26, 2010.

**2000 Mathematics Subject Classification:** 28C20.

**Key words and phrases:** analogue of Wiener measure.

(B) For a positive real number  $t$ , let  $C[0, t]$  be the space of all real valued continuous functions on a closed bounded interval  $[0, t]$  with the supremum norm  $\|\cdot\|_\infty$ .

(C) Let  $M(\mathbb{R})$  be the space of all finite complex valued countably additive measure on  $(\mathbb{R}, \mathcal{B}(\mathbb{R}))$ . For  $p \in \mathbb{R}$ , let  $\delta_p$  be the Dirac measure concentrated at  $p$  with total mass one.

(D) Let  $n$  be a non-negative integer. For  $\vec{t} = (t_0, t_1, \dots, t_n)$  with  $0 = t_0 < t_1 < \dots < t_n \leq t$ , let  $J_{\vec{t}} : C[0, t] \rightarrow \mathbb{R}^{n+1}$  be a function with  $J_{\vec{t}}(x) = (x(t_0), x(t_1), \dots, x(t_n))$ . For  $B_j (j = 0, 1, 2, \dots, n)$  in  $\mathcal{B}(\mathbb{R})$ , the subset  $J_{\vec{t}}^{-1}(\prod_{j=0}^n B_j)$  of  $C[0, t]$  is called an interval and let  $\mathcal{I}$  be the set of all intervals. For a non-negative finite Borel measure  $\rho$  on  $(\mathbb{R}, \mathcal{B}(\mathbb{R}))$ , we let

$$\begin{aligned}
 & m_\rho\left(J_{\vec{t}}^{-1}\left(\prod_{j=0}^n B_j\right)\right) \\
 &= \int_{B_0} \left[ \int_{\prod_{j=1}^n B_j} W(n+1; \vec{t}; u_0, u_1, \dots, u_n) d \prod_{j=1}^n m_L(u_1, \dots, u_n) \right] d\rho(u_0),
 \end{aligned}$$

where

$$\begin{aligned}
 & W(n+1; \vec{t}; u_0, u_1, \dots, u_n) \\
 &= \left( \prod_{j=1}^n \frac{1}{\sqrt{2\pi(t_j - t_{j-1})}} \right) \exp\left\{-\frac{1}{2} \sum_{j=1}^n \frac{(u_j - u_{j-1})^2}{t_j - t_{j-1}}\right\}.
 \end{aligned}$$

Then  $\mathcal{B}(C[0, t])$ , the set of all Borel subsets in  $C[0, t]$ , coincides with the smallest  $\sigma$ -algebra generated by  $\mathcal{I}$  and there exists a unique positive measure  $\omega_\rho$  on  $(C[0, t], \mathcal{B}(C[0, t]))$  such that  $\omega_\rho(I) = m_\rho(I)$  for all  $I$  in  $\mathcal{I}$ . For  $\rho$  in  $\mathcal{M}(\mathbb{R})$  with the Jordan decomposition  $\rho = \sum_{j=1}^4 \alpha_j \rho_j$ , let  $\omega_\rho = \sum_{j=1}^4 \alpha_j \omega_{\rho_j}$ . We say that  $\omega_\rho$  is the complex-valued analogue of Wiener measure on  $(C[0, t], \mathcal{B}(C[0, t]))$ , associated with  $\rho$ . If  $\rho$  is a Dirac measure  $\delta_0$  at the origin in  $\mathbb{R}$  then  $\omega_\rho$  is the classical Wiener measure.

(E) For an odd natural number  $n$ , we let  $n!! = 1 \cdot 3 \cdot 5 \cdot \dots \cdot n$  and for an even natural number  $n$ , we let  $n!! = 2 \cdot 4 \cdot 6 \cdot \dots \cdot n$  and let  $0!! = (-1)!! = 1$ .

By the change of variables formula, we have the following theorem.

**Theorem 1.1.** (Theorem 3.1 in [5]) *If  $f : \mathbb{R}^{n+1} \rightarrow \mathbb{C}$  is a Borel measurable function then the following equality holds.*

$$\begin{aligned} & \int_{C[a,b]} f(x(t_0), x(t_1), \dots, x(t_n)) d\omega_\rho(x) \\ &= \int_{\mathbb{R}^{n+1}} f(u_0, u_1, \dots, u_n) W(n+1; \vec{t}; u_0, u_1, \dots, u_n) \\ & d\left(\prod_{j=1}^n m_L \times \rho\right)((u_1, \dots, u_n), u_0) \end{aligned}$$

where  $=$  means that if one side exists then both sides exist and two values are equal.

**Lemma 1.2.** For  $n \in \mathbb{N}$  and for  $A > 0$ ,

$$\frac{1}{\sqrt{2\pi A}} \int_{\mathbb{R}} u^n \exp\left\{-\frac{(u-v)^2}{2A}\right\} du = \sum_{p=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2p} v^{n-2p} A^p (2p-1)!!$$

where  $\lfloor \cdot \rfloor$  is the Gauss symbol.

*Proof.* Let  $D_{n,A}(v) = \frac{1}{\sqrt{2\pi A}} \int_{\mathbb{R}} u^n \exp\left\{-\frac{(u-v)^2}{2A}\right\} du$  and let  $x = u - v$ . Then  $D_{n,A}(v) = \sum_{k=0}^n \binom{n}{k} v^{n-k} \frac{1}{\sqrt{2\pi A}} \int_{\mathbb{R}} x^k \exp\left\{-\frac{x^2}{2A}\right\} dx$ .  $\int_{\mathbb{R}} x^k \exp\left\{-\frac{x^2}{2A}\right\} dx = 0$  if  $k$  is odd. If  $k$  is even, i.e.  $k = 2p$  then, letting  $\frac{x^2}{2A} = \omega$ ,

$$\begin{aligned} D_{n,A}(v) &= \sum_{p=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2p} v^{n-2p} \frac{(2A)^p}{\sqrt{\pi}} \int_0^\infty \omega^{p-\frac{1}{2}} e^{-\omega} d\omega \\ &= \sum_{p=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2p} v^{n-2p} \frac{(2A)^p}{\sqrt{\pi}} \Gamma\left(p + \frac{1}{2}\right) = \sum_{p=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2p} v^{n-2p} A^p (2p-1)!! \end{aligned}$$

□

**Example 1.3.** (1) Suppose that  $f(u) = u^2$  is  $\rho$ -integrable. Then for  $a = t_0 < t_1 < t_2 \leq b$ ,

$$\int_{C[a,b]} x(t_1)x(t_2) d\omega_\rho(x) = (t_1 - a)\rho(\mathbb{R}) + \int_{\mathbb{R}} u^2 d\rho(u).$$

If  $\rho$  has a normal distribution with mean  $\alpha$  and variance  $\sigma^2$ , then

$$\int_{C[a,b]} x(t_1)x(t_2) d\omega_\rho(x) = (t_1 - a) + \alpha^2 + \sigma^2.$$

(2) Suppose that  $f(u) = u^{n_1+n_2}$  is  $\rho$ -integrable and  $n_k \in \mathbb{N}$ . Then for  $0 = t_0 < t_1 < t_2 \leq t$ ,

$$\int_{C[0,t]} x^{n_1}(t_1)x^{n_2}(t_2)d\omega_\rho(x) = \sum_{p_2=0}^{\lfloor \frac{n_2}{2} \rfloor} \sum_{p_1=0}^{\lfloor \frac{n_1+n_2-2p_2}{2} \rfloor} \binom{n_2}{2p_2} \binom{n_1+n_2-2p_2}{2p_1} (t_2-t_1)^{p_2}(t_1)^{p_1}(2p_2-1)!!(2p_1-1)!! \int_{\mathbb{R}} u^{n_1+n_2-2p_1-2p_2} d\rho(u).$$

If  $\rho$  has a normal distribution with mean  $\alpha$  and variance  $\sigma^2$ , then

$$\begin{aligned} & \int_{\mathbb{R}} u^{n_1+n_2-2p_1-2p_2} d\rho(u) \\ &= \frac{1}{\sqrt{2\pi\sigma^2}} \int_{\mathbb{R}} u^{n_1+n_2-2p_1-2p_2} \exp\left\{-\frac{(u-\alpha)^2}{2\sigma^2}\right\} dm_L(u) \\ &= \sum_{p=0}^{\lfloor \frac{n_1+n_2-2p_1-2p_2}{2} \rfloor} \binom{n_1+n_2-2p_1-2p_2}{2p} \alpha^{n_1+n_2-2p_1-2p_2-2p} \sigma^{2p} (2p-1)!! \end{aligned}$$

Thus

$$\begin{aligned} \int_{C[0,t]} x^{n_1}(t_1)x^{n_2}(t_2)d\omega_\rho(x) &= \sum_{p_2=0}^{\lfloor \frac{n_2}{2} \rfloor} \sum_{p_1=0}^{\lfloor \frac{n_1+n_2-2p_2}{2} \rfloor} \sum_{p=0}^{\lfloor \frac{n_1+n_2-2p_1-2p_2}{2} \rfloor} \binom{n_2}{2p_2} \binom{n_1+n_2-2p_2}{2p_1} \binom{n_1+n_2-2p_1-2p_2}{2p} \\ & \prod_{j=1}^2 (t_j-t_{j-1})^{p_j} \prod_{j=1}^2 (2p_j-1)!!(2p-1)!! \alpha^{n_1+n_2-2p_1-2p_2-2p} \sigma^{2p}. \end{aligned}$$

From Theorem 2.1, 2.3 in [9] and Lemma 2.9 in [7], we have the following Theorems.

**Theorem 1.4.**  $\int_{C[0,t]} \exp\{a \sup_{0 \leq s \leq t} |x(s) - x(0)|\} d\omega_\rho(x)$  is finite for all positive real number  $a$ .

**Theorem 1.5.** If  $\int_{\mathbb{R}} \exp(2a|u|)d\rho(u)$  is finite, then  $\int_{C[0,t]} \exp\{a \sup_{0 \leq s \leq t} |x(s)|\} d\omega_\rho(x)$  is finite for all positive real number  $a$ .

### 2. Evaluation on analogue of Wiener Measure

In this section we evaluate the integral

$$\int_{C[0,t]} x(t_1)x(t_2)\cdots x(t_n)d\omega_\rho(x)$$

where  $0 = t_0 < t_1 < \cdots < t_n \leq t$ .

**Theorem 2.1.** *Suppose that  $f(u) = u^n$  is  $\rho$ -integrable and Then for  $0 = t_0 < t_1 < \cdots < t_n \leq t$ ,*

$$\int_{C[0,t]} x(t_1)x(t_2)\cdots x(t_n)d\omega_\rho(x) = \sum_{p_1=0}^{[\frac{1}{2}]} \sum_{p_2=0}^{[\frac{2-2p_1}{2}]} \cdots \sum_{p_n=0}^{[\frac{n-2(p_1+\cdots+p_{n-1})}{2}]} \frac{\prod_{k=2}^n (k - 2 \sum_{i=1}^{k-1} p_i) \prod_{k=1}^n (t_k - t_{k-1})^{p_{n+1-k}}}{(n - 2 \sum_{i=1}^n p_i)! \prod_{k=2, p_k > 0}^n (2p_k)!!} \int_{\mathbb{R}} u_0^{n-2(p_1+p_2+\cdots+p_n)} d\rho(u_0).$$

*Proof.* Let  $g(u_0, u_1, \dots, u_n) = u_1 \cdots u_n$  and  $J_{\vec{t}} : C[0, t] \rightarrow \mathbb{R}^{n+1}$  be a function with  $J_{\vec{t}}(x) = (x(t_0), x(t_1), \dots, x(t_n))$ . Then  $g(x(t_0), x(t_1), \dots, x(t_n)) = g \circ J_{\vec{t}}(x) = x(t_1)x(t_2)\cdots x(t_n)$  is Borel measurable. By Theorem 1.1 and Lemma 1.2,

$$\begin{aligned} \int_{C[0,t]} x(t_1)x(t_2)\cdots x(t_n)d\omega_\rho(x) &= \frac{1}{\sqrt{(2\pi)^n \prod_{i=1}^n (t_i - t_{i-1})}} \times \\ &\int_{\mathbb{R}} \int_{\mathbb{R}^n} u_1 \cdots u_n \exp\left\{-\sum_{i=1}^n \frac{(u_i - u_{i-1})^2}{2(t_i - t_{i-1})}\right\} dm_L(u_1, \dots, u_n) d\rho(u_0) \\ &= \frac{1}{\sqrt{(2\pi)^{n-1} \prod_{i=1}^{n-1} (t_i - t_{i-1})}} \int_{\mathbb{R}} \int_{\mathbb{R}^{n-1}} u_1 \cdots u_{n-1} \sum_{p_1=0}^{[\frac{1}{2}]} \binom{1}{2p_1} \\ &\times (t_n - t_{n-1})^{p_1} (2p_1 - 1)!! \exp\left\{-\frac{1}{2} \sum_{i=1}^{n-1} \frac{(u_i - u_{i-1})^2}{t_i - t_{i-1}}\right\} u_{n-1}^{1-2p_1} \\ &\times dm_L(u_1, \dots, u_{n-1}) d\rho(u_0) \end{aligned}$$

$$\begin{aligned}
 &= \sum_{p_1=0}^{\lfloor \frac{1}{2} \rfloor} \sum_{p_2=0}^{\lfloor \frac{2-2p_1}{2} \rfloor} \binom{1}{2p_1} \binom{2-2p_1}{2p_2} (t_n - t_{n-1})^{p_1} (t_{n-1} - t_{n-2})^{p_2} \\
 &\times (2p_1 - 1)!! (2p_2 - 1)!! \frac{1}{\sqrt{(2\pi)^{n-2} \prod_{i=1}^{n-2} (t_i - t_{i-1})}} \\
 &\int_{\mathbb{R}} \int_{\mathbb{R}^{n-2}} u_1 \cdots u_{n-2}^{3-2p_1-2p_2} \exp\left\{-\frac{1}{2} \sum_{i=1}^{n-2} \frac{(u_i - u_{i-1})^2}{t_i - t_{i-1}}\right\} \\
 &\times dm_L(u_1, \dots, u_{n-2}) d\rho(u_0) \\
 &= \dots = \sum_{p_1=0}^{\lfloor \frac{1}{2} \rfloor} \sum_{p_2=0}^{\lfloor \frac{2-2p_1}{2} \rfloor} \dots \sum_{p_n=0}^{\lfloor \frac{n-2(p_1+\dots+p_{n-1})}{2} \rfloor} \prod_{k=1}^n \binom{k - 2\sum_{i=1}^{k-1} p_i}{2p_k} \\
 &\times \prod_{k=1}^n (t_k - t_{k-1})^{p_{n+1-k}} \prod_{k=0, p_k > 0}^n (2p_k - 1)!! \int_{\mathbb{R}} u_0^{n-2(p_1+\dots+p_n)} d\rho(u_0) \\
 &= \sum_{p_1=0}^{\lfloor \frac{1}{2} \rfloor} \sum_{p_2=0}^{\lfloor \frac{2-2p_1}{2} \rfloor} \dots \sum_{p_n=0}^{\lfloor \frac{n-2(p_1+\dots+p_{n-1})}{2} \rfloor} \\
 &\frac{\prod_{k=2}^n (k - 2\sum_{i=1}^{k-1} p_i) \prod_{k=1}^n (t_k - t_{k-1})^{p_{n+1-k}}}{(n - 2\sum_{i=1}^n p_i)! \prod_{k=2, p_k > 0}^n (2p_k)!!} \\
 &\int_{\mathbb{R}} u_0^{n-2(p_1+p_2+\dots+p_n)} d\rho(u_0).
 \end{aligned}$$

□

**Remark 2.2.** (1) If

$$\begin{aligned}
 F(u_0) &= \frac{1}{\sqrt{(2\pi)^n \prod_{i=1}^n (t_i - t_{i-1})}} \int_{\mathbb{R}^n} u_1 \cdots u_n \exp\left\{-\sum_{i=1}^n \frac{(u_i - u_{i-1})^2}{2(t_i - t_{i-1})}\right\} \\
 &\times dm_L(u_1, \dots, u_n),
 \end{aligned}$$

then  $F$  is a polynomial of degree  $n$ . If  $n$  is even then  $F$  is an even polynomial, i.e. for any odd natural number  $k$ , the coefficient of  $u_0^k$  in  $F$  is zero. If  $n$  is odd then  $F$  is an odd polynomial, i.e for any even natural number  $k$ , the coefficient of  $u_0^k$  in  $F$  is zero.

(2) If  $\rho = \delta_q$  is a dirac measure at  $q$  with total mass one and  $q \neq 0$ , then

$$\int_{C[0,t]} x(t_1)x(t_2)\cdots x(t_n)d\omega_\rho(x) = \sum_{p_1=0}^{\lfloor \frac{1}{2} \rfloor} \sum_{p_2=0}^{\lfloor \frac{2-2p_1}{2} \rfloor} \cdots \sum_{p_n=0}^{\lfloor \frac{n-2(p_1+\cdots+p_{n-1})}{2} \rfloor} \frac{\prod_{k=2}^n (k-2\sum_{i=1}^{k-1} p_i) \prod_{k=1}^n (t_k - t_{k-1})^{p_{n+1-k}}}{(n-2\sum_{i=1}^n p_i)! \prod_{k=2, p_k > 0}^n (2p_k)!!} q^{n-2(p_1+\cdots+p_n)}.$$

**Lemma 2.3.** For  $t > 0$ , let

$$I_n(t) = \int_{u_i > 0} \cdots \int_{u_1+\cdots+u_n \leq t} u_1^{a_1-1} u_2^{a_2-1} \cdots u_n^{a_n-1} du_n du_{n-1} \cdots du_1.$$

Then

$$I_n(t) = t^{(a_1+\cdots+a_n)} \frac{\Gamma(a_n) \cdots \Gamma(a_1)}{\Gamma(a_1 + \cdots + a_n + 1)}.$$

*Proof.* Let  $u_i = tx_i$ . Then  $I_n(t) = t^{(a_1+\cdots+a_n)} I_n(1)$ . So

$$\begin{aligned} I_n(1) &= \int_{u_i > 0} \cdots \int_{u_1+\cdots+u_n \leq 1} u_1^{a_1-1} u_2^{a_2-1} \cdots u_n^{a_n-1} du_n du_{n-1} \cdots du_1 \\ &= \int_{u_i > 0, 0 < u_n < 1} \cdots \int_{0 < u_1+\cdots+u_{n-1} \leq 1-u_n} u_1^{a_1-1} u_2^{a_2-1} \cdots u_n^{a_n-1} du_n du_{n-1} \\ &\quad \cdots du_1 \\ &= \int_0^1 u_n^{a_n-1} \left( \int_{u_i > 0} \cdots \int_{u_1+\cdots+u_{n-1} \leq 1-u_n} u_1^{a_1-1} u_2^{a_2-1} \cdots u_{n-1}^{a_{n-1}-1} du_{n-1} \right. \\ &\quad \left. \cdots du_1 \right) du_n \\ &= \int_0^1 u_n^{a_n-1} I_{n-1}(1-u_n) du_n \\ &= \int_0^1 u_n^{a_n-1} (1-u_n)^{(a_1+\cdots+a_{n-1}+1)-1} I_{n-1}(1) du_n \\ &= I_{n-1}(1) \frac{\Gamma(a_n)\Gamma(a_1+\cdots+a_{n-1}+1)}{\Gamma(a_1+\cdots+a_n+1)} \end{aligned}$$

Since  $I_1(1) = \frac{1}{a_1}$ ,  $I_n(1) = \frac{\Gamma(a_n)\cdots\Gamma(a_1)}{\Gamma(a_1+\cdots+a_n+1)}$ . Thus  $I_n(t) = t^{(a_1+\cdots+a_n)} \frac{\Gamma(a_n)\cdots\Gamma(a_1)}{\Gamma(a_1+\cdots+a_n+1)}$ . □

**Lemma 2.4.** Let  $0 = t_0 < t_1 < \dots < t_n \leq t$ . Let  $\Delta_n = \{(t_1, \dots, t_n) \in (0, t)^n \mid 0 = t_0 < t_1 < \dots < t_n \leq t\}$ . Then

$$\int_{\Delta_n} \prod_{j=1}^n (t_j - t_{j-1})^{k_j} dt_n \dots dt_1 = t^{k_1 + \dots + k_n + n} \frac{\prod_{j=1}^n k_j!}{(n + k_1 + \dots + k_n)!}.$$

*Proof.* Let  $t_j - t_{j-1} = x_j$ . Then  $t_k = \sum_{j=1}^k x_j$  and the Jacobian of this transform is  $J = 1$ . By above lemma,

$$\begin{aligned} & \int_{\Delta_n} \prod_{j=1}^n (t_j - t_{j-1})^{k_j} dt_n \dots dt_1 \\ &= \int_{x_i > 0} \dots \int_{x_1 + \dots + x_n \leq t} \prod_{j=1}^n x_j^{(k_j+1)-1} dx_n \dots dx_1 \\ &= I_n(t) = t^{k_1 + \dots + k_n + n} \frac{\prod_{j=1}^n k_j!}{(n + k_1 + \dots + k_n)!}. \end{aligned}$$

□

**Lemma 2.5.** If  $\int_{\mathbb{R}} \exp(2t|u|)d\rho(u)$  is finite, then  $\int_{C[0,t]} \exp\{-tx(0)\} \exp\{\int_0^t x(s)dm_L(s)\}d\omega_\rho(x)$  is finite.

*Proof.* By Theorem 1.5 and assumption, we have

$$\begin{aligned} & \int_{C[0,t]} \exp\{-tx(0)\} \exp\{\int_0^t x(s)dm_L(s)\}d\omega_\rho(x) \\ & \leq \int_{C[0,t]} \exp\{-tx(0)\} \exp\{\int_0^t \sup\{|x(s)| \mid 0 \leq s \leq t\} dm_L(s)\}d\omega_\rho(x) \\ & = \int_{C[0,t]} \exp\{-tx(0)\} \exp\{t \sup\{|x(s)| \mid 0 \leq s \leq t\}\}d\omega_\rho(x) \\ & \leq \int_{C[0,t]} \exp\{t|x(0)|\} \exp\{t \sup\{|x(s)| \mid 0 \leq s \leq t\}\}d\omega_\rho(x) \\ & \leq \left(\int_{\mathbb{R}} \exp(2t|u|)d\rho(u)\right)^{\frac{1}{2}} \left(\int_{C[0,t]} \exp\{2t \sup\{|x(s)| \mid 0 \leq s \leq t\}\}d\omega_\rho(x)\right)^{\frac{1}{2}}. \end{aligned}$$

□

**Remark 2.6.** If  $\int_{\mathbb{R}} \exp(2t|u|)d\rho(u)$  is finite, then  $\int_{\mathbb{R}} |u|^n d\rho(u)$  is finite for each  $n$ .

Now we evaluate the integral of  $\int_{C[0,t]} \exp(\int_0^t h(s)\tilde{d}x(s))d\omega_\rho(x)$  where  $h(s) = t - s$ .



**Theorem 2.7.** Suppose that  $\int_{\mathbb{R}} \exp(2t|u|)d\rho(u)$  is finite and let  $h(s) = t - s$  on  $[0, t]$  and let  $\Delta_n = \{(s_1, \dots, s_n) \in (0, t)^n | 0 = s_0 < s_1 < \dots < s_n \leq t\}$ . Then

$$\int_{C[0,t]} \exp\left(\int_0^t h(s)\tilde{d}x(s)\right)d\omega_{\rho}(x) = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \sum_{p_1=0}^{\lfloor \frac{1}{2} \rfloor} \sum_{p_2=0}^{\lfloor \frac{2-2p_1}{2} \rfloor} \dots$$

$$\sum_{p_n=0}^{\lfloor \frac{n-2(p_1+\dots+p_{n-1})}{2} \rfloor} \frac{(-t)^m}{m!} \frac{\prod_{k=2}^n (k - 2 \sum_{i=1}^{k-1} p_i)}{(n - 2 \sum_{i=1}^n p_i)! \prod_{k=2, p_k > 0}^n (2p_k)!!} t^{(p_1+\dots+p_n+n)}$$

$$\frac{\prod_{i=1}^n p_i!}{(n + p_1 + \dots + p_n)!} \int_{\mathbb{R}} u_0^{m+n-2(p_1+p_2+\dots+p_n)} d\rho(u_0).$$

*Proof.* Let  $h(s) = t - s$  on  $[0, t]$ . Then  $h(t) = 0, h(0) = t$ . And The Paley-Wiener-Zygmund integral  $\int_0^t h(s)\tilde{d}x(s)$  equals to the Riemann-Stieltjes integral  $\int_0^t h(s)dx(s)$   $\omega_{\rho} - a.e.x$ . By the integration by part of Riemann-Stieltjes integral [1],  $\int_0^t h(s)\tilde{d}x(s) = -tx(0) + \int_0^t x(s)dm_L(s)$   $\omega_{\rho} - a.e.x$ . Let

$$B = \int_{C[0,t]} \exp\left(\int_0^t h(s)\tilde{d}x(s)\right)d\omega_{\rho}(x).$$

Then  $\exp(\int_0^t h(s)\tilde{d}x(s))$  is integrable by lemma 2.5 and

$$B = \int_{C[0,t]} \exp(-tx(0)) \exp\left(\int_0^t x(s)dm_L(s)\right)d\omega_{\rho}(x)$$

$$= \int_{C[0,t]} \sum_{m=0}^{\infty} \frac{(-tx(0))^m}{m!} \sum_{n=0}^{\infty} \frac{1}{n!} \left(\int_0^t x(s)dm_L(s)\right)^n d\omega_{\rho}(x)$$

$$= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(-t)^m}{m!n!} \int_{C[0,t]} n! \int_{\Delta_n} (x(0))^m x(s_1) \dots x(s_n) ds_1 \dots ds_n d\omega_{\rho}(x)$$

$$= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(-t)^m}{m!} \int_{\Delta_n} \left[ \int_{C[0,t]} (x(0))^m x(s_1) \dots x(s_n) d\omega_{\rho}(x) \right] ds_1 \dots ds_n.$$

Also let  $A = \int_{C[0,t]} (x(0))^m x(s_1) \cdots x(s_n) d\omega_\rho(x)$ . Then by Theorem 2.1, we have

$$A = \sum_{p_1=0}^{\lfloor \frac{1}{2} \rfloor} \sum_{p_2=0}^{\lfloor \frac{2-2p_1}{2} \rfloor} \cdots \sum_{p_n=0}^{\lfloor \frac{n-2(p_1+\cdots+p_{n-1})}{2} \rfloor} \frac{\prod_{k=2}^n (k - 2 \sum_{i=1}^{k-1} p_i) \prod_{k=1}^n (s_k - s_{k-1})^{p_{n+1-k}}}{(n - 2 \sum_{i=1}^n p_i)! \prod_{k=2, p_k > 0}^n (2p_k)!!} \int_{\mathbb{R}} u_0^{m+n-2(p_1+p_2+\cdots+p_n)} d\rho(u_0).$$

Thus by lemma 2.4

$$B = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \sum_{p_1=0}^{\lfloor \frac{1}{2} \rfloor} \sum_{p_2=0}^{\lfloor \frac{2-2p_1}{2} \rfloor} \cdots \sum_{p_n=0}^{\lfloor \frac{n-2(p_1+\cdots+p_{n-1})}{2} \rfloor} \frac{(-t^m)}{m!} \frac{\prod_{k=2}^n (k - 2 \sum_{i=1}^{k-1} p_i)}{(n - 2 \sum_{i=1}^n p_i)! \prod_{k=2, p_k > 0}^n (2p_k)!!} t^{(p_1+\cdots+p_n+n)} \frac{\prod_{i=1}^n p_i!}{(n + p_1 + \cdots + p_n)!} \int_{\mathbb{R}} u_0^{m+n-2(p_1+p_2+\cdots+p_n)} d\rho(u_0).$$

□

### References

- [1] Robert G. Bartle, *The Elements of Real Analysis*, John Wiley & Sons. Inc., 1976.
- [2] D.L.,Cohn, *Measure theory*, Birkhauser, Boston, 1980.
- [3] J. Diestel, and J.J. Uhl, *Vector measures*, Mathematical Survey, No. 15, A. M. S., 1977.
- [4] Parthasarathy, K.R., *Probability measures on metric spaces*, Academic Press, New York, 1967.
- [5] K.S.Ryu and M.K.Im, *A measure-valued analogue of Wiener measure and the measure-valued Feynman-Kac formula*, Trans. Amer. Math. Soc., vol. 354, no. 12, 2002, 4921-4951.
- [6] K.S.Ryu and M.K.Im, *An analogue of Wiener measure and its applications*, J. Korean Math .Soc., 39. 2002, no. 5, 801-819.
- [7] K.S.Ryu and M.K.Im, *The measure-valued Dyson series and its stability theorem* , J. Korean Math .Soc., 43. 2006, no. 3, 461-489.
- [8] K.S.Ryu and M.K.Im and K.S.Choi, *Survey of the Theories for Analogue of Wiener Measure Space*, Interdisciplinary Information Sciences Vol. 15, No.3, 2009, 319-337.
- [9] K.S.Ryu *The Generalized Fernique's Theorem for Analogue of Wiener Measure Space*, J. Chungcheong Math. Soc., Vol. 22, No. 4, 2009, 743-748.

- [10] Yeh, J., *Stochastic processes and the Wiener Integral*, Marcel Dekker, New York, 1973.

Department of Mathematics Education  
(Institute of Pure and Applied Mathematics),  
Chonbuk National University,  
Chonju, Chonbuk 561-756, Korea  
*E-mail*: yhpark@chonbuk.ac.kr